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Question Bank 20 Fill In The Blanks

1. is the smallest particle of a chemical

element.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_84N1QOrS5yLA

° Watch Video Solution

2. The atomic theory was first proposed in

o Watch Video Solution

3. An atom consists of the sub-atomic particles

protons, electrons, and

° Watch Video Solution



https://dl.doubtnut.com/l/_84N1QOrS5yLA
https://dl.doubtnut.com/l/_nnoRfsPa4JLx
https://dl.doubtnut.com/l/_isAP2zMQmwzw
https://dl.doubtnut.com/l/_tB1mQ6vuwOQO

4. Nucleus of an atom consists of

o Watch Video Solution

5. The number of protons present in the
nucleus of an atom is equal to the number of
in a neutral atom and is called the of

the atom.

° Watch Video Solution



https://dl.doubtnut.com/l/_tB1mQ6vuwOQO
https://dl.doubtnut.com/l/_JaFFTWwWtZsB
https://dl.doubtnut.com/l/_g6i3nwmoboxX

6. Electrons revolve around the nucleus in

fixed paths called orbits or shells.

o View Text Solution

7. A chlorine atom has 17 protons and 18
neutrons in its nucleus. Therefore, its atomic

number is and the mass number

° Watch Video Solution



https://dl.doubtnut.com/l/_g6i3nwmoboxX
https://dl.doubtnut.com/l/_7B5C3ERHWCtf

8. Those atoms of an element having different

number of neutrons are called

° Watch Video Solution

9. Hydrogen occurs in nature in three different

isotopic  forms-protium, deuterium and

° Watch Video Solution



https://dl.doubtnut.com/l/_g8KEVfPV0ymj
https://dl.doubtnut.com/l/_qFGEBml4um0C

10. The atoms of the same element may differ

in the number of

° Watch Video Solution

1. A is the smallest particle of an

element or a compound which is capable of

free existence.

° Watch Video Solution



https://dl.doubtnut.com/l/_Rfw9HTJ7aDly
https://dl.doubtnut.com/l/_UG3onNDS8LnE

12. Maximum number of electrons that can be

present in N shell is

° Watch Video Solution

13. The outermost shell of an atom is called

° Watch Video Solution



https://dl.doubtnut.com/l/_em9mzwkbrDAl
https://dl.doubtnut.com/l/_UmYprSMdA2R1

14. The number of electrons lost or gained by

an atom so as to complete the octet is called

o Watch Video Solution

15. The particle which is formed by the gain of

electrons by an atom is called

° Watch Video Solution



https://dl.doubtnut.com/l/_9Puq25eJSvIe
https://dl.doubtnut.com/l/_RvoxJaLjlZvf

16. The particle which is formed by the loss of

electrons by an atom is called

° Watch Video Solution

17. The particle which is formed by the loss or
gain of electrons by an atom s

called

° Watch Video Solution



https://dl.doubtnut.com/l/_Y7jTFYHYfdsm
https://dl.doubtnut.com/l/_tiDBW4bzuDuC

18. A potassium ion has positive charge

because it contains less than

o Watch Video Solution

19. A sulphide ion has negative charge because

it contains less than

o Watch Video Solution



https://dl.doubtnut.com/l/_QaCzlVXLHRkK
https://dl.doubtnut.com/l/_9CLiS5jNajjR

20. An element has atomic number 13 and an

atomic mass of 27. The number of electrons in

each atom of this element is and

the number of neutrons is

o Watch Video Solution

Question Bank 20 Fill In The Blanks With

Appropriate Words To Make Correct Statements

1. The electrons present in the outermost shell

of an atom are called electrons.


https://dl.doubtnut.com/l/_9foDitU5qYLv
https://dl.doubtnut.com/l/_5sQTp5DCgYfM

° Watch Video Solution

2. Inert gases have electrons or

electrons in their valence shell.

o Watch Video Solution

3. Metals have , or

electrons in their valence shell.

° Watch Video Solution



https://dl.doubtnut.com/l/_5sQTp5DCgYfM
https://dl.doubtnut.com/l/_YNigxFSIHLR3
https://dl.doubtnut.com/l/_ULtzivU50YGd
https://dl.doubtnut.com/l/_gXTD8vz9AQK5

4. Non-metals have , or

electrons in their valence shell.

o Watch Video Solution

5. Metals are ___in nature.

o Watch Video Solution

6. Non-metals are in nature.

o Watch Video Solution



https://dl.doubtnut.com/l/_gXTD8vz9AQK5
https://dl.doubtnut.com/l/_tUyiRAJEAbUJ
https://dl.doubtnut.com/l/_pFWk1nPNImDg

7. During chemical reaction only

electrons participate.

° Watch Video Solution

8. Inert gas not having electrons in the

valence shell is

o Watch Video Solution



https://dl.doubtnut.com/l/_pFWk1nPNImDg
https://dl.doubtnut.com/l/_gUAZC406aGVx
https://dl.doubtnut.com/l/_VCanV2E90euD

9. Metals form

o Watch Video Solution

10. Non-metals form

o Watch Video Solution

Question Bank 20


https://dl.doubtnut.com/l/_CDMS8eUzaor8
https://dl.doubtnut.com/l/_OziZBc1MXoh1

1. The force of attraction which holds the
different particles together in a molecule is

called

o Watch Video Solution

2. Choose the elements with electropositive

and electronegative valency.

Element | Atomic no. | Electronic configuration
L K L M

A 5 2 6

B 9. 2 ) |

C 11 - 5 1
[ S . SR

I o Watch Video Solution


https://dl.doubtnut.com/l/_CfB1WYDVabJm
https://dl.doubtnut.com/l/_xPnKBQGThySs

3. Who was the first Indian philosopher who

had postulated that matter is divisible?

° Watch Video Solution

4. What is atomic mass unit (amu)?

° Watch Video Solution



https://dl.doubtnut.com/l/_xPnKBQGThySs
https://dl.doubtnut.com/l/_qeSFqQZirCsX
https://dl.doubtnut.com/l/_essoLRDVVYdD

5. What do you understand by atomic mass of

an element?

° Watch Video Solution

6. Two types of atoms of chlorine have atomic
masses 35 and 37, then why is the atomic mass

of chlorine taken as 35.5?

° Watch Video Solution



https://dl.doubtnut.com/l/_T9IToyTbL1Ta
https://dl.doubtnut.com/l/_FUQPlSAiHyh6

7. What is the difference between mass

number and atomic mass?

o Watch Video Solution

8. Discovery Of Neutrons is by ?

o Watch Video Solution

9. How was the stability of atom explained by

Bohr's model?



https://dl.doubtnut.com/l/_enkZ4BtqETh7
https://dl.doubtnut.com/l/_DVnN16bAHp6Z
https://dl.doubtnut.com/l/_WehoTDoHzcOr

o Watch Video Solution

10. Why is atomic number always calculated
from the number of protons in the nucleus
and not from the number of electrons present

in the extra nuclear part?

o Watch Video Solution

11. Atomic number of chlorine is 17. What will

be the atomic number of chloride ion (Cl_)


https://dl.doubtnut.com/l/_WehoTDoHzcOr
https://dl.doubtnut.com/l/_g3Rwp4EYaHUZ
https://dl.doubtnut.com/l/_yxLMUzjY4btF

and why?

o Watch Video Solution

12. Atomic number of sodium is 11. What will
be the atomic humber of sodium ion (Na+)

and why?

o Watch Video Solution

13. What are the postulates of Bohr's model of

atom? How does Bohr model overcome the


https://dl.doubtnut.com/l/_yxLMUzjY4btF
https://dl.doubtnut.com/l/_WyEgFy6V9rih
https://dl.doubtnut.com/l/_n6eXVRxWA5zl

drawback of Rutherford's model of atom?

o Watch Video Solution

14. Why are atomic masses of most of the

elements fractional and not whole numbers?

° Watch Video Solution

15. Why does helium exist as He whereas

hydrogen exists as Hy

o Watch Video Solution



https://dl.doubtnut.com/l/_n6eXVRxWA5zl
https://dl.doubtnut.com/l/_6CI30PAS6Knj
https://dl.doubtnut.com/l/_SXR4WlPzQu5r

16. Name the three isotopes of hydrogen. How

do they differ from each other?

° Watch Video Solution

17. M-shell can have up to 18 electrons, then
why does potassium (Atomic number 19) does

not have the electronic configuration 2,8,9 ?

° Watch Video Solution



https://dl.doubtnut.com/l/_SXR4WlPzQu5r
https://dl.doubtnut.com/l/_Nh2TOr79bd5T
https://dl.doubtnut.com/l/_7YdQPZMrneXE
https://dl.doubtnut.com/l/_NTCalUVUpI2R

18. What are the different isotopes of oxygen?
Write their symbols and draw their complete
structures. In what respects do they differ

from each other?

° Watch Video Solution

19. As we move away from the nucleus, in atom
the potential energy of electron increases, the
total energy as a whole increases. What

happens to the kinetic energy of the electron?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_NTCalUVUpI2R
https://dl.doubtnut.com/l/_DJOLOqkmXkzw

20. Could a nucleus of more than one proton

but no neutrons exist? Explain.

o Watch Video Solution

21. The valence shell of an element ‘218X is the

3rd shell.

° Watch Video Solution



https://dl.doubtnut.com/l/_DJOLOqkmXkzw
https://dl.doubtnut.com/l/_FwafL3RCFG3M
https://dl.doubtnut.com/l/_SD1wiXGLPzds

22. According to Bohr's atomic model,
electrons revolve around the nucleus in

elliptical orbits.

o View Text Solution

23. The mass number of the atom of an
element is the sum of the number of protons

and neutrons in the atom. (True / False)

o Watch Video Solution



https://dl.doubtnut.com/l/_mFLQ7JN0kwbv
https://dl.doubtnut.com/l/_a3XpMmnxhIO1
https://dl.doubtnut.com/l/_NTnUQAv6MbE4

24. The maximum number of electrons present

in the 5th shell is 32. (True / False)

o Watch Video Solution

25. State True or False
Electrons present in the first orbit cannot lose

its energy.

o Watch Video Solution



https://dl.doubtnut.com/l/_NTnUQAv6MbE4
https://dl.doubtnut.com/l/_4W1al04VEIHY

26. ).). Thomson proposed that the nucleus of

an atom contains only nucleus.

° Watch Video Solution

27. A neutron is formed by an electron and a
proton combining together. Therefore, it is

neutral.

° Watch Video Solution



https://dl.doubtnut.com/l/_OYwqsyOGPuFQ
https://dl.doubtnut.com/l/_BjrXTKIpPPGC

28. Th f lect Is about ———
e mass of an electron is abou 5000

times that of proton.

° Watch Video Solution

29. The statements below are false. For each
statement, replace the underlined term to
make a true statement.

Electrons have a positive charge.

o Watch Video Solution



https://dl.doubtnut.com/l/_2SWHasFu1T7h
https://dl.doubtnut.com/l/_ZK25Uo1Fjk7W
https://dl.doubtnut.com/l/_Gkq4QZFmEItp

30. The statements below are false. For each
statement, replace the underlined term to
make a true statement.

All atoms of the same element contain the

same number of neutrons.

o Watch Video Solution

31. The statements below are false. For each
statement, replace the underlined term to
make a true statement.

Protons have no electrical charge.


https://dl.doubtnut.com/l/_Gkq4QZFmEItp
https://dl.doubtnut.com/l/_K24XomwGoDBT

° Watch Video Solution

32. The statements below are false. For each
statement, replace the underlined term to
make a true statement.

The atomic number of an element is the
number of protons and neutrons in the

nucleus.

o Watch Video Solution



https://dl.doubtnut.com/l/_K24XomwGoDBT
https://dl.doubtnut.com/l/_XfeoJnLNV0An

33. The statements below are false. For each
statement, replace the underlined term to
make a true statement.

The mass number is an average of the masses
of all naturally occurring isotopes of an

element.

o Watch Video Solution



https://dl.doubtnut.com/l/_BHe8jbiC4QDY
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34.

same element?

o Watch Video Solution



https://dl.doubtnut.com/l/_Fv9o67bSfMDq
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35.

What is the atomic number for A?

° Watch Video Solution



https://dl.doubtnut.com/l/_QJcWPPzI85lF

L1 Probon
W Meibion

36.

What is the mass number for B?

o Watch Video Solution

37. Classify the following elements as metals,

non metals and inert gases and give reasons


https://dl.doubtnut.com/l/_3DzWnxGkHpWU
https://dl.doubtnut.com/l/_lMNFY2uKoj3w

in support of your answer.
Chlorine, Magnesium, Argon, Phosphorus,

Potassium, Sulphur, Neon

o Watch Video Solution

38. Use the following terms in the same

sentence proton, neutron, and isotope.

° Watch Video Solution



https://dl.doubtnut.com/l/_lMNFY2uKoj3w
https://dl.doubtnut.com/l/_74FYovkV7VBn

39. Complete each of the following sentences

An atom's is equal to the number of

protons in nucleus.

o Watch Video Solution

40. Complete each of the following sentences
by choosing the correct term from the word

bank.

Anatom's is equal to the weighted


https://dl.doubtnut.com/l/_G3djBS1Zu6ta
https://dl.doubtnut.com/l/_gZoeZJjfRBjW

average of the masses of all the naturally

occurring isotopes of that clement.

° Watch Video Solution

41. Match the entries in column A with the

appropriate ones in column B.

Column A Column B
1.). Thomson

. MNuclear flssion

|.Central pait of an alom
2. Planetary model ol stoms

F =

1. Definite circular paths ¢. Nucleus
of electrons

4. Heavy nucleus splils up  d. Bohr's atomic
into two sinall nucler with madel
release of encrgy

5. Plum Pudding mwdel e. Rutherford's
ol the alom atomie model

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_gZoeZJjfRBjW
https://dl.doubtnut.com/l/_z3dResa09s16

42. All matter is made up of atoms. Which

sentence correctly describes atoms?

A. All substances are made of the same

atoms.

B.An atom is the smallest particle of a

nucleus.

C.An atom is the smallest particle of an

element.


https://dl.doubtnut.com/l/_z3dResa09s16
https://dl.doubtnut.com/l/_hysGiqnFh81G

D. An atom is a substance that has been

cut in half.

Answer: C

o Watch Video Solution

43. What are the negatively charged particle
inside an atom called?

Use the diagram to answer this questions

A. protons


https://dl.doubtnut.com/l/_hysGiqnFh81G
https://dl.doubtnut.com/l/_pPb3O1HT9atn

B. neutrons

C. nuclei

D. electrons

Answer: D

o Watch Video Solution

44. The black circles in the model represent

neutrons. What do the white circles


https://dl.doubtnut.com/l/_pPb3O1HT9atn
https://dl.doubtnut.com/l/_uhzNvFjGXfuS

represent?

A. electrons

B. isotopes

C. nuclei

D. protons

Answer: D

l ﬂ Watch Video Solution


https://dl.doubtnut.com/l/_uhzNvFjGXfuS

45. The atomic number of an element

determined by

A. the number of electrons in one atom

B. the number of neutrons in one atom

C. the valency of the element

D. the number of protons in one atom

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_uhzNvFjGXfuS
https://dl.doubtnut.com/l/_oxvoGKy0ePV2

46. Which of the following particles has no

electric charge?

A. proton

B. neutron

C. electron

D. ion

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_oxvoGKy0ePV2
https://dl.doubtnut.com/l/_Y83sLc7xFiy3

47. How many protons does an atom with an

atomic number of 23 and a mass number of 51

have?

A. 23

B. 28

C. 51

D.74

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_m5DH13jjmdxf

48. Which of the following determines the

identity of an element?

A. atomic number

B. mass number

C. atomic mass

D. overall charge

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_wdcxR7yAnWuw
https://dl.doubtnut.com/l/_7Z2ozCjyzpsJ

49, Isotopes exist because atoms of the same

element can have different numbers of

A. protons

B. neutrons

C. electrons

D. None of the above.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_7Z2ozCjyzpsJ

50. Which of the following pieces of

equipment was used by JJ. Thomson to find

electrons?

A. an electron microscope

B. a magnifying glass

C. a cathode-ray tube

D. a telescope

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_0IHPof3pPhEo

51. Which one of the following is true of a

neutron?

A. A neutron has half the mass of a proton.

B. A neutron is a little more massive than a

proton.

C. A neutron has the same mass as an

electron.

D. A neutron is a little more massive than

an electron.


https://dl.doubtnut.com/l/_0ATqZYnGyzox

Answer: B

o Watch Video Solution

52. The ratio between the neutrons in C and Si

with respect to atomic masses 12 and 28 is:

A2:3

B.3:2

C.3:7

D.7:3


https://dl.doubtnut.com/l/_0ATqZYnGyzox
https://dl.doubtnut.com/l/_L050p3gIxwnD

Answer: C

o Watch Video Solution

53. The number of electrons in the atom of an
element X is 18 and the number of neutrons is
22. Which of the following is the correct
representation of an atom of this element?
40
Ao 19X
22
B. 18X

40
C.9x


https://dl.doubtnut.com/l/_L050p3gIxwnD
https://dl.doubtnut.com/l/_vAUt0FIG2SEb

40
D. 18X

Answer: D

o Watch Video Solution

54. An atom differs from its ion in

A. nuclear charge

B. mass number

C. number of electrons

D. number of neutrons


https://dl.doubtnut.com/l/_vAUt0FIG2SEb
https://dl.doubtnut.com/l/_YTnLECrxiRir

Answer: C

o Watch Video Solution

55. The least reactive element among the

following is


https://dl.doubtnut.com/l/_YTnLECrxiRir
https://dl.doubtnut.com/l/_UJppPE3ybwNf

Answer: B

o Watch Video Solution

56. The diagram given below represents an

atom of


https://dl.doubtnut.com/l/_UJppPE3ybwNf
https://dl.doubtnut.com/l/_5ZIZYRuN3rX5

A. Potassium

B. Chlorine

C. Sulphur

D. Calcium

Answer: B

o Watch Video Solution

57. The number of valence electrons in is i’})X

IS


https://dl.doubtnut.com/l/_5ZIZYRuN3rX5
https://dl.doubtnut.com/l/_QIf7B5mMO2j9

Al

B.7

C.6

D.5

Answer: D

o Watch Video Solution

58. Which of the following particles is largely
responsible for the chemical behaviour of

elements?


https://dl.doubtnut.com/l/_QIf7B5mMO2j9
https://dl.doubtnut.com/l/_CEDOFAQG2jk9

A. Proton

B. Electron

C. Neutron

D. All of these

Answer: B

° Watch Video Solution

59. Which of the following atoms do not

usually form bonds?


https://dl.doubtnut.com/l/_CEDOFAQG2jk9
https://dl.doubtnut.com/l/_N1qIsMBcmXgb

A. Calcium

B. hydrogen

C. neon

D. oxygen

Answer: B

° Watch Video Solution

60. Which types of atoms usually become

negative ions?


https://dl.doubtnut.com/l/_N1qIsMBcmXgb
https://dl.doubtnut.com/l/_uFOLsJrh29OY

A. metals

B. non-metals

C. noble gases

D. All of these

Answer: B

o Watch Video Solution

61. Which element has a full outermost’ energy

level containing only two electrons?


https://dl.doubtnut.com/l/_uFOLsJrh29OY
https://dl.doubtnut.com/l/_NCKbQeVS6DKt

A. helium, He

B. fluorine, F

C. hydrogen, H

D. oxygen, O

Answer: A

o Watch Video Solution

62. What type of element tends to lose

electrons when it forms bonds?


https://dl.doubtnut.com/l/_NCKbQeVS6DKt
https://dl.doubtnut.com/l/_s9QKOTexeg3j

A. metal

B. non-metal

C. metalloid

D. noble gas

Answer: A

o Watch Video Solution

63. Write the electronic configuration, number
of valence electrons and classify the following

as metals, non-metals and inert gases.


https://dl.doubtnut.com/l/_s9QKOTexeg3j
https://dl.doubtnut.com/l/_C1Z8kHMBUcv5

() 4P
(if) 79

(iii) 'R
(iv) 125

(v) 3T

° Watch Video Solution

64. Which of the following describes what
happens when an atom becomes an anion

with a 2 charge?

A. The atom gains 2 protons


https://dl.doubtnut.com/l/_C1Z8kHMBUcv5
https://dl.doubtnut.com/l/_Y7ZfWGXHShLk

B. The atom loses 2 protons

C. The atom gains 2 eléctrons.

D. The atom loses 2 electrons

Answer: C

o Watch Video Solution

65. Which pair of atoms can form an ionic

bond?

A. sodium, Na, and potassium, K


https://dl.doubtnut.com/l/_Y7ZfWGXHShLk
https://dl.doubtnut.com/l/_Br8TT6pGkWR1

B. potassium, K, and flourine, F

C. flourine, F, and chlorine, Cl

D. sodium, Na, and neon, Ne

Answer: B

o Watch Video Solution

66. The atomic number of an element is 15.

Hence, it will show a valency of

A.3 only


https://dl.doubtnut.com/l/_Br8TT6pGkWR1
https://dl.doubtnut.com/l/_WZllZDBjJakl

B.5 only

C.both 3 and 5

D. neither 3 nor 5

Answer: C

o Watch Video Solution

67. The valency of which of the elements is

zero?

A. Helium


https://dl.doubtnut.com/l/_WZllZDBjJakl
https://dl.doubtnut.com/l/_2kVOxOIgfJ1s

B. Silver

C. Gold

D. Hydrogen

Answer: A

o Watch Video Solution

68. Which of the following statements is

always correct?


https://dl.doubtnut.com/l/_2kVOxOIgfJ1s
https://dl.doubtnut.com/l/_iuMY8Y9kcO09

A. an atom has equal number of electrons

and protons.

B. an atom has equal number of electrons

and neutrons.

C.an atom has equal number of protons

and neutrons.

D. an atom has equal number of electrons,

protons and neutrons.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_iuMY8Y9kcO09

69. The number of valence electrons present in

noble gases is:

A.6

B.18

C.8

D.4

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_iuMY8Y9kcO09
https://dl.doubtnut.com/l/_c2KU8U3UEtDz

70. Oxygen has an atomic number of 8. Which

of the following could form the nucleus of an

isotope of oxygen?

A. 4 protons and 4 neutrons

B. 6 protons and 8 neutrons

C. 8 protons and 8 neutrons

D. 10 protons and 10 neutrons.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_OlQG2Am21S5B

71. An atom of element X contains 3 protons, 3
electrons and 4 neutrons:

What is its atomic number?

o Watch Video Solution

72. An atom of element X contains 3 protons, 3
electrons and 4 neutrons:

What is its mass number?

o Watch Video Solution



https://dl.doubtnut.com/l/_rk90PXAOLT2N
https://dl.doubtnut.com/l/_alGnHn98vwcl
https://dl.doubtnut.com/l/_ySVFoD0L28tk

73. An atom of element X contains 3 protons, 3
electrons and 4 neutrons:
Write the electronic configuration of the

element

° Watch Video Solution

74. An atom of element X contains 3 protons, 3
electrons and 4 neutrons:
State whether element X is a metal or non-

metal. Why?

o Watch Video Solution



https://dl.doubtnut.com/l/_ySVFoD0L28tk
https://dl.doubtnut.com/l/_o05ov4tl7AAG

75. An atom of element X contains 3 protons, 3
electrons and 4 neutrons:
What type of ion, cation or anion, will be

formed by an atom of element X? Why?

o Watch Video Solution

76. An atom of element X contains 3 protons, 3

electrons and 4 neutrons:


https://dl.doubtnut.com/l/_o05ov4tl7AAG
https://dl.doubtnut.com/l/_5J8IquySmccu
https://dl.doubtnut.com/l/_kx0H2NGYdUui

Write the symbols of the ion formed by an

atom of element X.

° Watch Video Solution

77. An atom of element X contains 3 protons, 3
electrons and 4 neutrons:

What could element X be?

° Watch Video Solution



https://dl.doubtnut.com/l/_kx0H2NGYdUui
https://dl.doubtnut.com/l/_cw27hY68cPwE

78. Atomic models have been improved over
the vyears. Arrange the following atomic
models in the order of their chronological
order.

(i) Rutherford's atomic model (ii) Thomson's
atomic model

(iii) Bohr's atomic model

A. (1), (i1) and (iii)

B. (ii), (iii) and (i)

C. (i), (1) and (iii)


https://dl.doubtnut.com/l/_yIwrY8YmDNGV

D. (iii), (i) and (i)

Answer: C

o Watch Video Solution

79. For an atomic number 20, the 20th

electron will occupy

A. L-shell

B. M-shell

C. N-shell


https://dl.doubtnut.com/l/_yIwrY8YmDNGV
https://dl.doubtnut.com/l/_Xso5RrVJRT3T

D. K-shell

Answer: C

o Watch Video Solution

80. Members of which of the following have

similar chemical properties?

A. Isotopes

B. Isobars

C. Allotropes


https://dl.doubtnut.com/l/_Xso5RrVJRT3T
https://dl.doubtnut.com/l/_WpqdBxOW4b91

D. Both Isotopes and Allotropes

Answer: A

° Watch Video Solution

81. The number of electrons in an element with

atomic number X and mass number Y will be

A XY

B. Y-X

C. X+Y


https://dl.doubtnut.com/l/_WpqdBxOW4b91
https://dl.doubtnut.com/l/_xOtlRZrk2OZ6

D. X

Answer: D

° Watch Video Solution

82. The relative atomic masses of many

elements are not whole numbers because

A.they cannot be determined very

accurately


https://dl.doubtnut.com/l/_xOtlRZrk2OZ6
https://dl.doubtnut.com/l/_49F6h7Ls18iY

B.the atoms ionize during the

determination of atomic masses

C. of the existence of isotopes

D. of the presence of impurities

Answer: C

o Watch Video Solution

83. Atoms of which of the following have a

valency equal to zero.


https://dl.doubtnut.com/l/_49F6h7Ls18iY
https://dl.doubtnut.com/l/_pLUUjPSZZqWh

A. Hydrogen

B. Nitrogen

C. Neon

D. Carbon

Answer: C

o Watch Video Solution

84. Calculate the number of electrons, protons

and neutrons in sodium atom. Given that


https://dl.doubtnut.com/l/_pLUUjPSZZqWh
https://dl.doubtnut.com/l/_J2pB2iVP8mb3

atomic number of sodium is 11 and mass

number (atomic mass) is 23.

° Watch Video Solution

85. The nucleus of the atom of an element
contains 17 protons and 18 neutrons. Calculate
the atomic number and mass number of the
element and represent them along with the

symbol of the element.

° Watch Video Solution



https://dl.doubtnut.com/l/_J2pB2iVP8mb3
https://dl.doubtnut.com/l/_XnQ47jbMD1r3
https://dl.doubtnut.com/l/_7h3hTbA8NoWV

86. The atom of an element has 2 electrons in

the M shell. What will be the atomic number of

the element? Name the element.

° Watch Video Solution

87. Atomic number of Alis 13 and mass number
is 27 .Calculate the number of electrons
protons and neutrons in the ion formed

Represent the ion.What will be its valency?

° Watch Video Solution



https://dl.doubtnut.com/l/_7h3hTbA8NoWV
https://dl.doubtnut.com/l/_OoWC7AMXkdMi

88. An element has atomic number 15. What

will be the valency/valencies shown by it?

° Watch Video Solution

89. An ion M?37T contains 10 electrons and 14
neutrons. What are the atomic number and
mass number of the element M? Name the

element.

o Watch Video Solution



https://dl.doubtnut.com/l/_xtn65FSyNsmM
https://dl.doubtnut.com/l/_nNx1ot8HgbJC
https://dl.doubtnut.com/l/_OINihI9qBTO5

90. An ion X2~ contains 10 electrons and 8
neutrons. What are the atomic number and
mass number of the element X? Name the

element.

o Watch Video Solution

91. Calculate the number of protons, neutrons,
and electrons in an atom of zinconium-90 that
has no overall charge and an atomic number

of 40.

o Watch Video Solution



https://dl.doubtnut.com/l/_OINihI9qBTO5
https://dl.doubtnut.com/l/_SUOXHF08Oto1

92. Calculate the atomic mass of chlorine,
which consists of 76% of all the chlorine in
nature, and chlorine - 37 that makes up the

other 24%.

o Watch Video Solution

93. Calculate the atomic mass of silver, which
occurs naturally as 52% silver - 107 and 48%

silver - 109.

| = 1


https://dl.doubtnut.com/l/_SUOXHF08Oto1
https://dl.doubtnut.com/l/_kVX9zFjh7mB2
https://dl.doubtnut.com/l/_BODvvTC2cw0F

I &9 Watch Video Solution I

94. Calculate the atomic mass of silicon, which
occurs naturally as 92% silicon -28, 5% silicon -

29, and 3% silicon - 30

o Watch Video Solution

95. The ion of an element has 3 positive
charges. The mass number of atom of this
element is 27 and the neutrons is 14. What is

the number of electrons in the ion ?


https://dl.doubtnut.com/l/_BODvvTC2cw0F
https://dl.doubtnut.com/l/_uS21xSWXbA5r
https://dl.doubtnut.com/l/_kphYFZbYvuv4

A. 13

B.10

C.14

D. 16

Answer: B

o Watch Video Solution

96. How many electrons does an atom with an
atomic number of 20 and a mass number of 42

have?


https://dl.doubtnut.com/l/_kphYFZbYvuv4
https://dl.doubtnut.com/l/_JfRX5s1Sx38r

A. 20

B. 22

C.42

D. 62

Answer: A

° Watch Video Solution

97. Which of the following do not represent

Bohr's model of atom correctly?


https://dl.doubtnut.com/l/_JfRX5s1Sx38r
https://dl.doubtnut.com/l/_AeNy7RWmCAHf

@ &
RO

A. (i) and (ii)
B. (i) and (iii)
C. (i1) and (iv)

D. (i) and (iv)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_AeNy7RWmCAHf

98. Identify the Mg>" ion from the figure
where, n and p represent the number of

neutrons and protons respectively.

T,



https://dl.doubtnut.com/l/_P0Vv1BIAEJZr

Answer: D

o Watch Video Solution

99. Elements with valency 1 are

A. always metals

B. always metalloids


https://dl.doubtnut.com/l/_P0Vv1BIAEJZr
https://dl.doubtnut.com/l/_7Qex3GLRn56O

C. either metals or non-metals

D. always non-metals

Answer: C

o Watch Video Solution

100. Use the following terms to create a
concept map
atom, nucleus, protons, neutrons, electrons,

isotopes, atomic number, positively charged,


https://dl.doubtnut.com/l/_7Qex3GLRn56O
https://dl.doubtnut.com/l/_YeoBf426G5Jj

negatively charged, neutral, Rutherford, ))J.

Thomson, Goldstein, Chadwick

° Watch Video Solution

101. Complete the following sentences by
choosing the correct term from the wora bank.
nuclear fission, nuclear fusion, nuclear chain
reaction

During small nuclei combine.

° Watch Video Solution



https://dl.doubtnut.com/l/_YeoBf426G5Jj
https://dl.doubtnut.com/l/_dZcfCqTR2SBb
https://dl.doubtnut.com/l/_WK3xNeosS2V5

102. Complete the following sentences by
choosing the correct term from the word
bank.

nuclear fission, nuclear fusion, nuclear chain
reaction

During nuclei split one after another

o Watch Video Solution

103. The statements below are false. For each

statement, replace the underlined term to


https://dl.doubtnut.com/l/_WK3xNeosS2V5
https://dl.doubtnut.com/l/_dQVSAmT10ZOo

make a true statement.

Nuclear fusion involves splitting a nucleus

° Watch Video Solution

104. The statements below are false. For each
statement, replace the underlined term to
make a true statement.

Radioactivity involves the joining of nuclei.

o Watch Video Solution



https://dl.doubtnut.com/l/_dQVSAmT10ZOo
https://dl.doubtnut.com/l/_FDvcaooewh5Y

105. Compare nuclear fission with nuclear

fusion.

° Watch Video Solution

106. Imagine that a uranium nucleus splits and
releases three neutrons and that each
neutron splits another nucleus. If the first split
occurs in stage 1, how many nuclei will split

during stage 4?7

° Watch Video Solution



https://dl.doubtnut.com/l/_8SRMlycOBthm
https://dl.doubtnut.com/l/_FgUHiV9ysb47

107. Which of the following is a use

radioactive material?

A. detecting smoke

B. locating defects in materials

C. generating electrical energy

D. All of the above

Answer: D

of

o Watch Video Solution



https://dl.doubtnut.com/l/_FgUHiV9ysb47
https://dl.doubtnut.com/l/_IjyxzFWmKZ0T
https://dl.doubtnut.com/l/_OapNs7BtTb63

108. Which particle both begins and is

produced by a nuclear chain reaction ?

A. positron

B. alpha particle

C. neutron

D. beta particle

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_OapNs7BtTb63
https://dl.doubtnut.com/l/_s4X3Ilb17rwy

109. Which statement about nuclear fusion is

false?

A. Nuclear fusion happens in the sun.

B. Nuclear fusion is the joining of the

nuclei of atoms.

C.Nuclear fusion is currently used to

generate electrical energy.

D. Nuclear fusion can use hydrogen as fuel.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_s4X3Ilb17rwy

110. In fission, the products have less mass
than the starting materials do. Why does this

happen?

° Watch Video Solution

111. Explain why nuclei of carbon, oxygen, and

iron can be found in stars

o Watch Video Solution



https://dl.doubtnut.com/l/_s4X3Ilb17rwy
https://dl.doubtnut.com/l/_QMZBNzpo8wfA
https://dl.doubtnut.com/l/_Ea0L91VFyMQK
https://dl.doubtnut.com/l/_7i99s4NxCWtJ

112. What are two dangers associated with

nuclear fission?

o Watch Video Solution

113. Solve the following crossword with the

help of the given clues.


https://dl.doubtnut.com/l/_7i99s4NxCWtJ
https://dl.doubtnut.com/l/_6D3qyAbzYouW

Clues
ACROSS
6. It oceurs when 1 heavy, unstable nucleus splits mio
two or more lighter nuclei.
8. The smallest unit of an element that maintains the
properties of that element.

11. Atoms that have the samé number of protons (or
the same atomic number ) as other atoms of the same
element do but that have different number of neu-
trons.

12. 'The transfer of electrons from one atom to another
is called -

14, A swable sub-atomic particle that has a positive elec-
tric charge and is pant of the nuecleus of an atom.

15. A sob-atomic particle with « negative electric charge
thal spins about an atom's nucleus in orbits called
shells,

16, The particles that build up an stom

L8, The positively charged central region of an atom, |

composed of protons und neutrons and containing
mast of the mass of the atom.

19. The number of protons in the nucleus of an atom,

20 The combining of atoms 1o form molecules of new
substances.

23. An electrically neutral sub-stomic perticle that is |’

part of the nuclens of an atom.
24. The ar of el ma of en-
ergy levels or shells (orbits) around the nucleus.
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DOWN
1. The outermost shell of an aiom, the clectrons
winch are fved in comp

1. An mteraction that holds two atoms i a molecule
1ogether

' 3. The total number of protons and nestrons present
in the nucleus of an stom.

4. The number of imes by which the mass of the stom
of an element is heavier than 1/12th the mass of 2
carbon-12 atonw.

5. A bond that forms by the complete transfer of clec-
trons from onc atom to another which results in posi-
tive ions and 2 negative ions.

7. The six gases helium, neon, argon, krypton, xenon,
and radon, which do not react chemically with other

9. The joining together of light stomic nuclei, espe-
cially hydrogen nuclei, 1o form 2 heavier nucleus,
especially a helium pucheus

10. An ion that hes 3 negative charge

13. The clectrons present in the valence shell of an
alom.

17. A substance that cannot be broken down inlo sim-
pler substances by chemical means.

21. Positively charged jons

212, A whole number that represents the shility of an
atom of a group of stoms to combine with other
atoms or groups of sloms. R
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https://dl.doubtnut.com/l/_6D3qyAbzYouW

View Text Solution

Question Bank 20 Answer The Following

Questions

1. What particle is needed to begin a nuclear

chain reaction?

o Watch Video Solution

2.In both fission and fusion, what is converted

into energy?


https://dl.doubtnut.com/l/_6D3qyAbzYouW
https://dl.doubtnut.com/l/_XouAhksr69Yg
https://dl.doubtnut.com/l/_DN2EW7W23elE

° Watch Video Solution

3. Which kind of nuclear reaction is currently

used to generate electrical energy?

o Watch Video Solution

4. Which kind of nuclear reaction is the source

of the sun energy?

° Watch Video Solution



https://dl.doubtnut.com/l/_DN2EW7W23elE
https://dl.doubtnut.com/l/_dEigFnqtn4ss
https://dl.doubtnut.com/l/_UGMWuNUuavkP

Self Assessment Sheet 20

1. What is the maximum number of electrons

which can be accomodated in the L shell of an

atom ?

A.2

B.7

C.8

D.9

Answer: C



https://dl.doubtnut.com/l/_aC9o8Psw7OFO

\ o Watch Video Solution

2. What is the maximum number of electrons
that can be present in the nth shell of an

atom?

o Watch Video Solution

3. Choose the correct options and fill in the
blanks by the correct word.

An (atom /element) is a pure


https://dl.doubtnut.com/l/_aC9o8Psw7OFO
https://dl.doubtnut.com/l/_hQlPn3ZEDZ9d
https://dl.doubtnut.com/l/_YzLnaLHSuPiJ

substance which cannot be split into anything

simpler by chemical means.

° Watch Video Solution

4. Choose the correct options and fill in the
blanks by the correct word.
A/An (atom/compound ) is the smallest

particle of an element.

o Watch Video Solution



https://dl.doubtnut.com/l/_YzLnaLHSuPiJ
https://dl.doubtnut.com/l/_B8DC35lJehMk

5. Choose the correct options and fill in the
blanks by the correct word.
The atomic number of an element is the

number of (neutrons/protons) in

the nuclei of its atoms.

o Watch Video Solution

6. Choose the correct options and fill in the

blanks by the correct word.


https://dl.doubtnut.com/l/_iSIVCnXDNpBZ
https://dl.doubtnut.com/l/_JbeWgDIqxioK

An atom as a whole is electrically

(neutral/charged).

o Watch Video Solution

7. Choose the correct options and fill in the
blanks by the correct word.

The splitting of a heavier nucleus of an atom
into two or more smaller nuclei is called

nuclear (fusion/fission).

o Watch Video Solution



https://dl.doubtnut.com/l/_JbeWgDIqxioK
https://dl.doubtnut.com/l/_gBO2dFGHvJT2
https://dl.doubtnut.com/l/_8n2UAmjEBLh2

8. Match the following :

Column A Column B

. Dreliom a. Discovery of neutron

2. 1], Thomson t. Electrically -charged
atom

3. Chadwick c. Atomic theary

© 4, Goldstein d. .-i}:i.s-:m'ur:_'.lr'.;jfhf alectron,

amnd of isvlopes

5. lon e. Discovery of proton

° Watch Video Solution

9. Draw diagrams representing the atomic
structures of the following:

Oxygen atom

| N I


https://dl.doubtnut.com/l/_8n2UAmjEBLh2
https://dl.doubtnut.com/l/_EOWFtCzsf4OI

| ¥ Watch Video Solution |

10. Draw diagrams representing the atomic
structures of the following:

chlorine atom

° Watch Video Solution

11. Which one of the following is the correct

electronic configuration of potassium?

A. 289


https://dl.doubtnut.com/l/_EOWFtCzsf4OI
https://dl.doubtnut.com/l/_lF3e6EFBNkXl
https://dl.doubtnut.com/l/_DeqPTAgoPUT6

B. 8, 2,9

C. 2,8, 8,

D.1,2,8,8

Answer: C

o Watch Video Solution

12. What are the main postulates of Dalton's
atomic theory ? What were its limitations ?

How has the theory been modified ?

I o Watch Video Solution


https://dl.doubtnut.com/l/_DeqPTAgoPUT6
https://dl.doubtnut.com/l/_wqyFNJkRUAJJ

13. What will be the composition of the
nucleus of the atom of an element with atomic

number 19 and mass number 39?7

o Watch Video Solution

14. Which atom does not have any neutron in

the nucleus and why?

o Watch Video Solution



https://dl.doubtnut.com/l/_wqyFNJkRUAJJ
https://dl.doubtnut.com/l/_US6f8vljbHTt
https://dl.doubtnut.com/l/_tMBG02Avz2st
https://dl.doubtnut.com/l/_rptfVlm1kUKp

15. State the differences between atoms and

ions.

o Watch Video Solution

16. Which symbols are used to represent

different Bohr's orbits?

o Watch Video Solution



https://dl.doubtnut.com/l/_rptfVlm1kUKp
https://dl.doubtnut.com/l/_Kx9QsPXKoXiY

17. How does their energy change when we

move outwards from the nucleus?

o Watch Video Solution

18. Rutherford's experiment showed for the

first time that the atom has

A. Electrons

B. Protons

C. Nucleus


https://dl.doubtnut.com/l/_EYMhZYZyRelL
https://dl.doubtnut.com/l/_6bVCQ1aSOeYi

D. Neutrons

Answer: C

o View Text Solution

19. Neutron is present in all atoms except

A. Nucleus
B. Deuterium
C. Tritium

D. Helium


https://dl.doubtnut.com/l/_6bVCQ1aSOeYi
https://dl.doubtnut.com/l/_tGrV0Lnnpwcx

Answer: A

o Watch Video Solution

20. The statements below are false. For each
statement replace the underlined term to
make a true statement.

A nucleus is a particle with a negative electric

charge.

o Watch Video Solution



https://dl.doubtnut.com/l/_tGrV0Lnnpwcx
https://dl.doubtnut.com/l/_Zk4a3Z77YFut

21. The statements below are false. For each
statement replace the underlined term to
make a true statement.

The electrons is where most of an atom's mass

is located.

o Watch Video Solution

22. What refinements did Bohr make to

Rutherford's proposed atomic theory?

° View Text Solution



https://dl.doubtnut.com/l/_8d11W0Ba01ew
https://dl.doubtnut.com/l/_vS9lzr48uceQ

23. Look at the two atomic models. Do the two
atoms represent different elements or

different isotopes? Explain.

ElecTon Froton

o Watch Video Solution



https://dl.doubtnut.com/l/_vS9lzr48uceQ
https://dl.doubtnut.com/l/_pjVC4O1cc9Mn

